2022 ERGEIRF 2 B A XA RANUBRTFRAS #TR

104298 (£) el 1 2022/10/18
%1585 e EEERS) EXE
1 [63ke#RD 1EE 1 [48ke#kB 1MEE; 1 [48ke#hC 1 1 [48ke#RD 1EI%;
[ 2 [48ke#RA 2EE 2 [57ke#RB 1E%: 2 [57ke#kC 1EIH: 2 [57ke#RD 1[EE
3] 3 [63ke#RC 1EH 3 |63ke#kB 1EE 3 [48kg#RD 2[E#
[ 4] | 4 [48ke#RB 2EE | 4 [48Kke#RC 2E; 4]
5 5 5| | 5 |
[ 6 [52ke#RD 2EE [ 6| 6 | 6
7] 7 7 7 [52ke#RA 2EI%:
[ 8] | 8 [52ke#RC 2EE | 8 [52ke#%B 2E%; (8
9 9 |9 | | 9 |
(10 [57ke#RA 2EE 10 [10] 10
11 11 11 11 [57ke#kD 2EE;
[12] |12 [57ke#RB 2E% [12 [57ke#kC 2E%; 12
13 13 [13] 13 ]
(14 [63ke kD 2@ [ 14] 14 14
15 15 15 15 [63ke#RA 2[EE;
[ 16] | 16 |63ke#RC 2% [ 16 [63ke#kB 2E; 16
17 17 [17] 17
(18 [70ke#RA 2EE 18] 18] 18
[19] 19 19 19 [70kg#kD 2[EE;
20 20 [70kg#RB 2[EIH; [20 [70ke#kC 2@ [20]
| 21 |78ke#RD 2B 21 [21] 21 |
[22] 22 22 22
[ 23] | 23 [78ke#RC 2EE [ 23 |78ke#kB 2EE [ 23 [78ke#RA 2EE
24 24 [24] 24
[ 25 [78ke#BHRA 2% [ 25 | | 25 | 25
26 26 26 26
| 27 [48ke#RA SEE [ 27[78ke##RB 28 |27 [78ke#B#RC 2EIB | 27 |78ke#BARD 2@
28 28 28 28
[ 29 [52keg#RD 3EE [ 29 [48ke#%B 3E# [29 [48keg#kC SEE 29
30 30 30 30 [48keg#RD 3EE
(31 [57ke#RA SEE | 31 [52kg#RC 3EE | 31 [52ke#kB SEE 31
32 32 32 32 [52kg#RA SEIE
| 33 |63ke#RD SEE | 33 [57ke#kB 3E# [33 [57ke#kC SEE 33
34 34 34 34|57kg#RD 3EE
35 [70ke#RA SEE | 35 |63kg#RC 3EE | 35 |63ke#kB SEE 35
36 36 36 36 |63k #RA SEIE
| 37 |78ke#RD 3EE | 37 [70ke#%B 3E# [37 [70ke#kC 3@ 37
38 38 38 38 |70kg#RD 3EE
[39 [78ke#@#RA 3E8 | 39 |78ke#kC 3 [ 39 |78ke#kB SEE 39
40 40 40 40|78ke#RA SEE
41 [48kefRA 4B 41[78ke#B%B 3EE | 41 |78kgiB#RC SEE 41
42 [52kg#RD 4GB 42 42 42 [78keBHRD 3EE
43 [57kefRA A8 43 [48ke#RB AEI% 43 [48ke#hC AEH: 43
44 [63kg kD 4% 44 [52ke#BC 4B 44 [52ke#kB A% 44 [48ke#BD AEI%
45 [70ke#RA A% 45 [57ke kB 4B 45 [57ke#kC A 45 [52kgfRA 4B
46 [78kg#RD 4EIH; 46 [63ke#RC 4EI% 46 [63ke#kB 4 46 [57ke#RD 4EI%
47 |78k BHRA 4 47 [710kg#kB 4EI% 47 [70kg#kC 4 47 [63ke#RA 4B
48 [78ke#RC 4EI% 48 |78k #kB AEH; 48 [70ke#RD 4EI%
49 [78kgiB#RB 4EH 49 [78ke#B4RC 4EE 49 [78kefRA 4B
50 [78ke#B#D AEH:
SHEZESR 10min
48[48ke#h BREGEBA | 50(48kgtk HEREFEA 50[48kg#k % RMEHB 51[48ke#f BREGEHB
49[52kei#h BREGEBA | 51|52kgik 2 REEEA 51[52kg#h % RMEEB 52(52ke#f BREEEHB
50[57ke#h BIEMEMA | 52|57keth HERBSEA 52[57kg#k % RMEEB 53(57ke#f BREGEHB
51(63ke#h BIEMEESA | 53|63ke#h HRBEEA 53[63kg#h % RMEEB 54|63ke#h B EHB
52|70ke#h BAEMEBA | 54|70ke#h HERBSEA 54|T0kg#k % RMEEB 55[70ke#f BREGEHB
53|78ke#f BAEMEEMA | 55|78ke#h HERBEEA 55|78kg#k #E:RMEEB 56|78ke#h BuEfEEHB
54| 78ke B8 BB EEA | 56|78ke Rk ERPSEA | 56|78keiAfk SERISHMB | 57|/okefBek A EHB
SHEEER] 10min ST YHAE
55[48ke#h =fREHA | 57[48ke#k =fIREMB | 57]52kg#k —frREHBA | 58]52ke#k =fIREHB
56[57ke#k =fIREEIA | 58|57ke#k =f{uREMB | 58]63ke#k =f{rREMA | 50|63keik =HIREHB
57[70ke#k =fiREHA | 59|70ke#h =fuREMB | 50|78kek =fuREMA | 60|78keik =fiREHB

60[78keiB#k =HIRFEA | 60]|78ke Bk =R EHB
R E R

61]48ke#h REEE
RER - A BE1—

62[52ke#k REEH
RER - (U BE1—

63[57ke ik REEH
RER - (U BE1—

64]63ke ik REEH
RER - (U BE1—

65]70ke#k REES
RER - (U BE1—

66]78ke#k REEH
RER - (U BE1—

67]78kg B8R RESE
RER - (U BE1—




20225 EMNREF LS AFRAGRABTFRAR ETE

108308 (A) BRI 2022/10/18
ERERY | F2RE15 EEE EXEr ]
| 1 [66kg#kD 1M 1 [60kg#%B 1EI% 1 |66ke#EB 1EI% 1 [60ke#kD 1[EEK
2 2 |66ke#kC 1EIEE 2 [73kg#RC 1mE1%; 2 |66kefRA 1EIEE
3 |73ke#RA 1EIE 3 |73ke#kB 1EIE% 3 [100kg#%B 1[EE: 3 |73ke#kD 1EIE;
4 [81kg#RD 1E1% 4 [90kg#kB 1M 4 [100kg#E4RC 1E8 4
5 [100kg#kD 1@ 5 [100kg#BiEB 1 EE; 5 [60kg#kC 2m@E; 5 |90kg#kD 1E1%;
| 6 |60kg#RA 2= | 6 |60kg#kB 2[EIE | 6 | 6 |100kgiB4RD 1[=15
7] 7| 7] | 7 [60ke#RD 258
| 8 | | 8 | 8 8
9 9 9 [66kg#kB 2@ | 9|
10 [66ke#RD 2[EE [ 10 [66ke#RC 2EE; [10] 10
[ 11| 111 | | 11] | 11 |66kg#RA 2[EE
112 | 112 | 12 12
13 13 13 [73kg#RC 2EE 113
[ 14 |73kg#RA 2mEE; [ 14 [73kg#kB 2E1%; [ 14] 14
[ 15 | [ 15] 115] | 15 |73kg#kD 2[EIE
| 16 | | 16 | 16 16
17 17 17 [81ke#kB 2@ [ 17]
| 18 [81kg#RD 2[EIE% | 18 |81kg#kC 2[EIEK 118 | 18
[19] 19 ] [19] (19 [8Tke#RA 2@E
1 20 | | 20 | 20 20
21 21 21 [90kg#kC 2@ | 21|
1 22 [90kg#RA 2@ | 22 [90kg#EB 2mE1E; 22 22
123 | 23 | 1 23 | | 23 |90kg#RD 2[EE
| 24 | | 24 | 24 24
25 25 25 [100kg#%B 2[E%; [ 25 |
| 26 [100kg#kD 2% [ 26 [100kg#kC 2E18% | 26| 26
27 | | 27 ] [ 27 ] | 27 |100kg#RA 2[E1%
| 28 | | 28 | 28 28
29 29 29 [100kgB#KC 2EH; 29
[30 [100kg#B%RA 28 | 30 [100kgiB#MB 2%, |30 30
1 31] | 31] 1 31] | 31 |100kgi8#ED 2[E1Ek
132 | | 32 ] 32 32
33 33 33 [60kg#kC 3@ 33|
| 34 |60kg#RA 3 | 34 |60kg#kB 3MmEIE 34 34
35 35 35 |66kg#%B 3@ | 35 [60kg#kD 3MEE;
| 36 |66ke#kD 3EIE | 36 [66ke#kC 3EEE 36 36
37 37 37 [73ke#kC M | 37 |66kg#kA 3EIE;
[ 38 [73kg#kA M 38 [73kg#kB 3mEIE; 38 38
39 39 39 [81kg#kB 3@ 139 [73ke#kD 3@
140 [81kg#RD 3MmEE; [ 40 [81kg#kC 3mEIE; 40 40
4 41 41 [90kg#KC 3@ [ 41 [81kg#RA 3EIE
[ 42 [90kg#RA 3MmE1E; | 42 [90kg#kB 3MEIE; 42 42
43 43 43 [100keg#%B 3[EIE: | 43 [90kg#kD 3MmEIE;
| 44 [100keg#kD 3[EE: | 44 [100kg#kC 3E1E; 44 44
45 45 45 [100kg#B#KC 3[EE, | 45 |100kg#kA 3@
| 46 [100kg#B4RA 3[E18 | 46 [100kgiB#KB 3EE 46 46
47 47 47 |60kg#%C 4 47 [100kg#2#&D 3EE
48 |60kg#RA 4EIE 48 |60k #BB 4EE; 48 [66kg#kB 4mE; 48
49 [66ke#RD 4E1%; 49 [66ke#RC 4@ 49 |73ke#RC AmEE; 49 [60kg#kD 4EH
50 [73kg#RA AEIE; 50 |73kg#kB 4EIE 50 [81kg#kB 4 50 |66k kA AEIEE
51 [81kg#kD 4MmEIE; 51 |81ke#kC 4MEIE 51 [90kg#RC 4, 51 |73keg#kD AMEIE:
52 [90kg#RA 4MmEIE; 52 [90kg#kB 4MEIE: 52 [100kg#%B 4E1&; 52 |81kg#kA 418
53 [100kg#kD 4[EIE; 53 [100kg#kC 4EE 53 [100kg#2#RC 4@ 53 [90kg#kD 4EIE:
54 [100kgBERA 4@ 54 [100kg#B4EB 4R 54 [100kg#RA 4@
55 [100kg#B#RD 4
FREEFR 10min
55[60kg#k BREEIEEA 55|60kg#k HERREEIA 54|60kg#k #EiR BB 56 |60kg#k BXE 18 EHB
56 [66kg#k BREEIEEA 56|66kgfk HERRHFEIA 55|66kg#k #EiR B 57)|66kg#k BREH 1S EEB
57]73kg#k BAEEIEEA 57)73kg#k #ERREEIA 56| 73kg#k HER RSB 58|73kg#k BREH 1S EEB
58[81ke#k BREMEMA | 58|81keik ERBEHA 57(81kgi#k #ERIEHB 50(81keik BEEEHB
59[90ke#k BREMESBA | 59|90keik ERBEHA 58[90ke#k #EREEEB 60[90keik BREMEEB
60[100kg#h BREMEHA | 60]100ke R M REBEA 59[100kg#k £ RIEHB 61]100keik BREMEZHB
61]100ke#B8% BREMEMA | 61|100kgiBik ERMEA | 60[100ke Bk B RMEHB | 62]100keiBMk BEMEZHSB
SAEEER Smin
62[60kg#k =GRRTEHA | 62[60ke#k =fHREMEB | 61]66kefk =fiREHA | 63[66keik =fiRTHB
63|73kg#h =GrRTEERA 63[73kg#h ={IREEB 62|81kg#h ={frRTEERA 64|81kg#h =frRTEEB
64|90kg#h =frRTEERA 64[90kg#h ={RTEEB 63|100kg#h =fREHA | 65|100kg#k ={HrRTEEB
65 100ke#B#%k =hrREHA | 64|100keiBk = FLREHB
REEHETIR
65[60ke iR RIS I
®EXL- 1 VAE1—
66[66keih RIE |
RERX - A BE1—
67]73ke R RESH: |
REX - HE1—
68[81kefh REBE |
RERX - AFC1—
69]90ke#R REFH |
RERX - AoHBE1—
70[100ke iR RESE |
RERX-AVHEa—
71[100keiB%R REBE, |
®EXL- 1 VAE1—




